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PEIRIX 4R 22 583025 55 30. 36 i =
VEIRIX 4805 22 5143025 FHRHF 31.81 = =
PEIRIX 4Ry rh 22, 23522532303 RHT 56. 16 g N
PEIRIX I 4RY5 22, 235225 4/24-401 B 56. 16 = =
PEIRIX (4R 22 5854025 Kt 30. 36 T =
VEIRIX 4855 22 514025 TKARAF 31.81 = =
PESRIX 4Ry 22, 23'52254-403 Fi S (20 56. 16 & N
VEIRIX 4855 22 584501 %5 B 56. 16 e =
PEIRIX (4R h 22 5855025 UL 30. 36 & =
VEIRIX 4855 22 5145025 T4 31.81 = i
PEIRIX 1405 22 585503 5 HRIR 22.1 i N
PEIIX AR5 L2255 15035 FEXLBH 34. 06 i€ =
PEIRX 4R 22, 235235101 R LIS 58.2 i =
PEIIX F4RE5 22, 2345:23451-102 & 62.17 fEE =
PEIRIX (4tyirh B22, 235235 1/21-103 BRI, B3 58.2 fF N
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PEIRIX (14085 22, 235235:2-201 EMe 56. 16 fFE N
PEIRIX 4R 1 23 5 12025 T2 30. 36 i€ =
PEIIX AR5 L2355 12025 L AEC] 31.81 i A=
PESRIX 4Ry h 22, 2352352-203 E7AL 56. 16 i N
PEIIX F4RE5 b 22, 2345:2345:3-301 iR 56. 16 e =
PEIRIX (405 23 5853025 ERE 30. 36 i N
PEIIX AR5 235 130245 Mz 31.81 i€ =
PEIRIX 4Ry h 22, 23'52353-303 FUF 56. 16 i N
PEIRIX (14085 22, 2352354-401 e 56. 16 = i
PESRIX (I 4RY5h 22, 23'52354-402 ki 62. 17 i =
PEIRIX (14005 22, 235:2354-403 Fiek: i 56. 16 = i
PEIRIX 4Ry 22, 2352355/2501 Eflise 56. 16 i =
VEIRIX 4855 23 5145025 i 30. 36 liet =
PEIRIX (1405 23 5855025 E +5 31.81 i =
VEIRIX 4855 23584503 %5 THE 34. 06 = =
PEIRIX (1405 23 585503 5 h—H 22.1 i N
VEIRIX 4805 24515101 fegua 30. 43 = =
PEIRIX (4R 24 5851015 Pk 31.86 i N
PEIIX A4t 24, 259524°5 1) 1-2 AR 58. 46 e =
PEIRIX (1 4RY5h 24, 255245 1)21-3 W 58. 46 i =
PEIRIX (14005 24, 25524521 THR 62. 29 = =
PEIRIX I 4RYs P 24, 255:24°52-2 A 56. 42 i N
PEIIX A4t b 24, 2545:24%52-3 A48 56. 42 e =
PEIRIX (1405 24 5853015 fHRESE 30. 43 fEE =
VEIRIX 4855 245843015 JaRe=E 31. 86 = =
PEIRIX 1 4RYs T 24, 255:24°53-2 X E 56. 42 i N
PEIIX F4RE5 24, 2545:24%53)53-3 e 56. 42 e =
PEIRX 4R 24, 26524541 e 62.29 i =
PEIRIX (4R H24, 25%524°5 4242 KR, 531155, 53¢ 56. 42 fEE =
PEIRIX 1 4RY T 24, 25524543 [7]3 56. 42 & N
PEIRIX A 4807 H24, 25552495 5-1 R 62.29 fE b
PEIRIX (1 4RY5h 24, 25524 55)25-2 “ES 56. 42 i LN
VEIIX F4RE5 P 24, 2545:24%55-3 pApel) 56. 42 fEE =
PEIRX 4R 24, 265255 1-1 EFFE 62. 29 T N
VEIIX F4RE5 b 24, 25452545 1-2 FRER 58. 46 e =
PEIRIX 1 4REs 24, 255:25°51-3 (LEX:S 58. 46 e L
VB IX (4R35 24, 25452545:2-1 R 62. 29 e =
PEIRIX (1 4RY5h 24, 255255222-2 i 7 15t 56. 42 T N
VEIRIX 4855 25514203 %% RN i 34.19 k= =
PEIRIX 14085 25585203 5 gt 22.23 i€ =
VEIRIX 4855 25514301 %5 2= ik 30. 43 = =
PEIRIX 4R 26 53015 XK 31.86 i€ =
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PEIRIX A 4807 H24, 255259532 FRM(EH)  FHRAE 56. 42 fE Ahy
PEIRIX (1405 25 585303 5 Frpite 34.19 i N
VEIRIX 4855 25514303 %% HEFI9E 22.23 = =
FEIRIX (14885 25 5 #4015 iR b 30. 43 fE3 b
VEIRIX 4855 25514401 %5 ke 31. 86 = =
PEIRIX (I 4RY5h 24, 255255 4)24-2 EFH 56. 42 i =
PEIRIX (14505 24, 25%525%54-3 HEAE 56. 42 = =
PEIRIX (1405 25 585501 5 HE R 30. 43 i N
VEIRIX (4855 25584501 %% T 31. 86 = =
PEIRIX 4R T 24, 255:25°55-2 MEP(CEH)  FRiE 56. 42 i =
PESRIX (14805 24, 25%5:25%55-3 T 56. 42 = =
PEIRIX 405 26K -1015 TR 40. 32 fEE =
PEIRIX (14055 265 P 10245 EETES 24. 62 £ b
PEIRIX 405 26851035 B 42.62 i =
VEIRIX 4Ry 26851045 K 24.77 = =
PEIRIX 485 26451055 kg 24.77 i =
VUIRIX B 455 26051065 e3P 40. 46 = =
FEIRIX (14885 26 5 #2015 JeatE s R A F AT SRS (BHO REK 40. 32 B A (EE
PEIRIX (14055 2605202 5 P 4 24. 62 fEE Ahy
PEIRIX 405 BL.26 8% -203 5 ThE 39.17 i N
VUIRIX B 455 o .26 H-2045 R 24. 48 = =
PEIRIX 14075 BL.26 B -205 5 JA 24. 48 i N
VEIRIX B 455 .26 H-206 %5 s 40. 46 = =
FEIRIX (140851 26 5 #3015 JeatE s R A F AT T i 40.75 B A (EE
PEIIX A AR5 265 13025 -5l 25. 49 e =
PEIRIX 4075 BL.26 8% -303 5 REH 39.74 i N
VUIRIX B 455 .26 H5-3045 T 25.2 = =
PEIRIX 1405 26853055 KEA 25. 49 i =
PEIIX A AR5 26843065 R 40.9 liet =
PEIRIX 4085 271015 [iES 3 40.03 T N
VEIRIX 4885 b 27 51102 Tk 22.9 fEE =
PEIRIX 4085 2T -103 5 PIERG 37.73 T =
VEIRIX 4885 27 511045 XN 24. 48 = =
PEIRIX 405 27201 5 ISt 37.15 T N
VEIRIX B 405 o HL27HE 2025 EF5 26.5 = =
PEIRIX (4R 27 5852035 R 34.56 fEE =
VEIRIX 4855 27 512045 JA B 26. 93 = =
PEIRIX 405 B2 TR -301 5 IS 37.73 T8 N
VUIRIX B 455 HL27HE 3025 FRIg 27. 36 k= =
PEIRIX 405 27303 5 EaER| 35.57 T N
PEIRIX (14005 L 27RE304 5 Rt 0% 27.79 fEE Ahy
PEIRIX (14087 28 5 — 2101, 1025 HAEF 71.57 g N
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PEIRIX (14005 285 H5 10345 et b B A A ) AR 42.34 i | A (EE
PEIRIX (4R 28 551045 WLkE 24. 62 i N
VUIRIX B 455 280105 TZEAH 24. 62 = =
FEIRIX (148551 28 5 451065 2 40. 32 fE3 b
VEIRIX 4Ry 282015 FhRIE 47.52 = =
PEIRIX (405 2852025 Tk 24. 48 i N
PEIRIX (405 285 H5-203 5 ik 39.17 fEE Ahy
PEIRIX 1405 28 585204 5 SOkH 24.77 i N
VEIRIX 4005 288205 i 24. 48 = =
PEIRIX 14075 .28 B -206 5 U3 e s 40. 46 i =
PEIRIX 4855 2813015 Fae 47.95 liet =
PEIRIX (1405 7 28 8-302. 3035 [ S 65. 52 i =
VEIRIX 4855 28 5143045 l7p & 25. 06 = =
PEIRIX 4075 28 B -305 5 BRI 25. 63 i =
VUIRIX B 455 HL28H5-306 %5 PIPN/S 41.18 = =
PEIRIX 405 29 k%1015 iz 39. 64 i =
PEIRIX (4055 5295 B 10245 JEatE G R A ESES 22.9 i | A (EE
PEIRIX 405 29 B -103 5 FRAF 38.9 i N
VEIRIX 4855 291045 HRAL 23. 05 i =
FEIRIX (14885 295 #1055 JeatE s R F AT il (E#) 23.05 i A (EE
PEIIX E 4805 295 11065 IEgE 38.9 e =
PEIRIX 405 29 B -201 5 ZRAH I 39.34 i N
VEIRIX 4Ry HL2982025 TAER: 23.34 = =
PEIRIX 14075 29 B -203 5 FERH 36. 26 fEE =
VEIRIX 4855 295162045 W 23.19 = =
PEIRIX 405 29852055 AEBRAP 23.34 i N
PEIRIX 4855 2942065 FE 39.34 i =
PEIRIX 405 L2985 -301 5 [ZES 39.78 i =
VEIRIX 4855 295143025 EWN 4 23.93 = =
PEIRIX 405 2945303 5 [ ESG] 36. 11 T N
VEIRIX B 455 o L2905 -3045 R 23.34 = =
PEIRIX 405 L2945 305 5 ki 23.93 T =
VEIRIX 4055 o 29853065 RS 39.93 = =
PEIRIX 4085 B30k -1015 NS 37.14 T N
VaIRIX B 455 HL30HE-102%5 XA 20. 99 = =
PEIRIX 485 3081035 LEAE 31.86 & =
VEIRIX 4855 305151045 FF5 0 26. 28 = =
PEIRIX 14085 B30 582015 Wi EE 36. 85 fEE Hhi=
VEIRIX B 455 HL30H 2025 kAR 21.58 e i
PEIRIX 405 308203 5 Ak 31.56 i N
PEIRIX (14555 30052045 B 72 [ 26. 13 g Ahy
PEIRIX 4085 B30 583015 iBNE 37.29 i N
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PEIRIX 4855 305143025 o e 4 21.73 = =
PEIRIX (14085 B30 583035 X758 31.27 i N
VEIRIX B 455 HL30HE 3045 TR 26. 57 = =
PEIRIX I 4R85 h 31 51015 ERE 45.95 i N
VEIR 4805 31851025 Tk 22.9 = =
PEIRIX 405 B3 1R -103 5 [RES 35. 67 i N
PEIIX A AR5 3 L 1) 10455 HOCH 22.9 e =
FEIRIX (14885 31581055 JeatE s R A F AT Ayl 22.9 B A (EE
PEIRIX (14855 3 1RE-106 5 LT 39. 34 g Ahy
PEIRIX 4R 31 582015 K 46.39 i =
VUIRIX B 455 3182025 KI5 23.34 = =
PEIRIX 405 318 -203 5 BHIR 35.97 i =
VUIRIX B 455 318 -2045 FHA 23.19 = =
FEIRIX (14855 315 82055 JeatE s R A F AT EEGES 23.34 B A (EE
PEIRIX (4055 H31°5 152065 FEM 39. 49 fE Ahy
PEIRIX 405 313015 R 47.27 i =
PEIRIX 4855 315143025 R 23.93 = =
PEIRIX 4R 31 583035 i 36. 41 i N
VERIX 4005 HL318304 5 40 23.49 = =
PEIRIX 405 B3 1B 3055 R 23.78 i N
VUIRIX B 455 3183065 eSS 40. 22 = =
FEIRIX (14805 325 JeatE s R A F AT TR (B ) 26. 39 B A (EE
VEIRIX 4085 .33 % it e 27.33 = =
PEIRIX 405 33 HRIR T 36. 12 i N
PERIX 4Ry 33453 THIE 17.86 = =
PEIRIX 4ty 33 5-75 EE=IN 17.86 i N
VEIRIX 4Ry b 344524 fasic] 17. 86 = =
FEIRX (14805 345 R 18 fE Ahi
VEIRIX 4805 345 4-5)5 % RFHR 28.13 = =
PEIRIX 4R 355 1S R 18 g N
VESRIX 4Ry 37544 EHEE 17.06 = =
PEIRIX 405 375 At 17. 06 T =
VEIRIX [ 4085 HL38 5 [EES 16 i€ =
PEIRIX 4085 38 5 RES 34. 66 T N
PEIIX A 4R 38525 E5E 18 i =
PEIRIX 405 38 LR 16.93 & =
PO IX A 4R e 5 15 kS5 19.6 i =
PEIRIX 4ty 6 52-3% ¥ 39. 46 T8 N
PEIRIX A4ty L 1S SRTE-: 16. 26 i€ =
PEIRIX 4Ry L 1S R 17. 06 T N
PEIRIX (14005 L 1S T 17.06 = =
PEIRIX 4Ry L 1S R 11.86 fEE =




53 ik FERA AHN ERAER | BREH ik BRI
PEIRIX 405 o L -6 2Rk 13.86 = =
PEIRIX 4ty 1525 ER$ S 16. 26 i N
PEIRIX 4Ry L2 e 21.99 i =
PEIRX 4R 25 1S i 12.8 i€ =
PEIRIX (14005 L2 K2 24.79 = =
FEIRIX (14005 B2 545 Ko 12.4 fE Ahj
PEIRX S 4 15 R 1015 AR 35 fEE Ahy
FEIRX SETE 4 1 S 1025 X 35 fE Ahj
PEIR X S 75 L 15 1035 R 25 35 £ N
PEIRX SETE 4 1 5 1045 KER 35 fE Ahj
PR X S 75 L 1B 1055 k¥ A 35 fEE Ay
TEIRIX SR 15451065 FEE 35 i€ =
PEIX S 4 L1 51075 g 35 fE Ay
FEIRX ST 4 L 1 5 1085 NS 35 fE Ahj
PEIRX S 25 L1 5 R 1095 ARE 35 fEE Ay
FEIRX SETE 4 1S HE1105 L3 35 fE Ahj
VESRIX S 7 LS k111 EES 35 = i
PR SETE 4 1S 1125 IR 35 fE3 A
PEIRIX 3 73 L 15 #5201 % paEstsd 31. 14 = =
FEIRX SE T 4 L 1 5 2025 Rz 26.7 fE3 Ahj
PHIX S 25 L1 52035 et by B A ) g2} 26.7 i | A (EE
FEIRX ST 4 L 1 5 204 5 JeatE s R A F AT B 26.7 B A (EE
VEIRIX 3 < L 15 #5205 % fEFI 26.7 = =
PEILX S 75 L 1 5 206 5 27501 26.7 fE3 Ahj
PR X S 75 L 15 2075 KRR 26.7 £ b
PEIRIX 3 7R L1208 5 LI 26.7 i N
PR X S 75 L 15 2095 T 26.7 £ N
PEIRIX 3 PE 7R L1 S #6210 Sl 26.7 i N
PEIR X S 4 1S 2115 FHE 26.7 £ b
PEIRIX 3R PE R L1 S k2125 B 31. 14 T N
PEIRIX 3 73 L 1545301 % g 31. 14 = =
FEIRX ST 4 L 1 5 3025 EEER 26.7 fE3 Ahi
PEIRIX 3 73 HL 15 #6303 ACHUE A B A FHEEE (280 27.44 i A= (HE)
PEIRX ST 4 L 1 5 304 5 FEEF 27. 44 fE Ahi
PR X S 75 L1 #3055 ERE 36.78 fEE N
PEIRIX B 4R 1S = 23065 JeatE s R F AT RLLH 17.8 i A (EE
PEIR X S 75 L1 5 3075 fatasts 27. 14 fEE b
PEIRIX 3 e 7R L1 545308 5 KR 27.58 T8 N
VEIRIX 3 73 L 15 #5309 % PR 27.58 k= =
PEIRIX 3 hE 7R L1 5463105 R 27.58 g N
PEIRIX S R 1S 3115 EFS i 27.58 fEE b
PEIRIX e R L1 S #3125 ERIPS 31.74 i N
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VEIRIX 3 73 L2 5 #5101 % Sl 31.73 i =
PEIRIX SR AR B2 541025 bRt E R A kiU (280 31. 46 i€ A (HE)
PEI X S I 47 HL 254510345 bR G B B R ki (20 31.46 i€ A (HED)
PEIRIX 3 e 7R B2 5451045 FHEH 31.46 i N
PEIRIX 3 7 245105 JE IR 31. 46 = =
PEIRIX 3 E 7R B2 5451065 bty 31.46 i N
VEIRIX 3 7 L2 5 #5107 W 39. 87 e =
PEIRIX S AR B2 5461085 ERtE R A F BT (BB VR 31. 46 i€ A (HE)
VEIRIX 3 73 B2 5 #5109 ENEEE 31. 46 = i
PEIRX SR AR L2 541105 Wk 31. 46 i€ =
VESRIX 3 7 2 5 k111 [Nl 31.46 e =
PEIRIX 3R R 2 5112 ks 31.46 i =
PEIRIX 3 7R 26201 % Ja R 3 31.46 e =
PEIRIX SR AR L2 542025 RERE 38.1 i€ =
PEIRIX 3 7 B 25 #5203 %5 PAFSY 16. 41 e =
PEIRIX 3 7R L2 545204 5 HPAN 27.26 i =
VEIRIX 3 7 B 25 #5205 % O 27.39 = =
PEIRIX 3 7R L2 544206 5 REREE 38.51 i N
VEIRIX 3 7 B2 5 #5207 % [Rvarg 27.26 i =
PEIRIX 3 7R L2 545208 5 AR 27.26 i N
VAR X 3 7 B2 5 #5209 %5 T IEH 27. 26 = =
PEIRX SR AR B2 542105 bRt E R A F (> 27.26 i€ A (HE)
VEIRIX 3 7 2 5 k211 L7 27.26 e =
PEIRIX SR AR B2 52125 AXF 32 i N
VEIRIX 3 73 L3 St AR 11015 Wz 37.5 = =
PEIRIX SR AR L3 SR 1025 Bt 23. 64 i€ =
VEIRIX 3 73 L3 S 6 401035 (1% 37.06 e =
PEIRIX S E 7R B3 SR 1045 S5 22.18 fEE Hhi=
VEIRIX 3 73 L3 S 41055 KA 23.64 e =
PEIRIX S 7R B3 S 42015 SRR 37.5 fEE Hhi=
VEIRIX 3 el 73 L3 S B 4R 2025 ) FE 23.64 e =
PEIRIX S AR L3 54203 5 et E R A E M 37.93 i€ A (HED)
VEIRIX 3 73 L3 S B AR 112045 EST 26. 12 = =
PEIE X S FE AR L3 5 AR 02055 At T PG X AT DR B 45 0 23.64 i€ N
VEIRIX 3 7 B35 #5206 %5 FEE 37.5 = =
PEIRIX 3 7R L3301 5 #iR 38.37 T =
PEIRIX 3 7 HL 3k 302 TRIBUT 24.22 e =
PEIRIX SR AR B3 5K R303 5 FkREE 38.81 i€ =
VEIRIX 3 73 L35 #5304 5 Rt 26.99 e =
PEIRIX S E 7R B3 S R 3055 I Rk 24.22 fEE =
PEIRIX 3 7 B35 #5306 % TEZ 38.37 = =
PEIRX SR AR B3RP 111015 24t 37.5 i N
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PEIRIX 3l 73 L35 #5176 111025 ) 7 3 23.64 =
PEIRIX S AR B3RP 111035 HFAL 37.06 N
VEIRIX 3l 73 L35 B5 176 1045 FEEA 22.18 =
PEIRIX S 7R B3 S R 1055 AR 23. 64 =
VEIRIX 3 73 L35 #5106 %5 PRz 37.35 =
PEIRIX SR AR B3 S 72015 EFHE 37.5 =
PEIR X 3 7 B3k 62025 FERI 23. 64 =
PEIRIX SR AR L3 5K 7 1712035 el 37.93 N
a3 X S I 47 L35 4K 762045 TR AR 26. 12 =
PEIRIX SR b AR L3 5 K 72055 RS 23.64 =
PEIR X 3 el 7 HL3 45 B5 17206 5 FH= 37.5 =
PEIRIX S 7R L3S R 176301 5 Rk 38.37 Hhi=
VEIRIX 3 el 73 HL3 5 #5111 3025 HKES 24. 22 i
PEIR X 3 7R L3 S R 176303 5 k= 38.81 Hhi=
PEIRIX 3 el 73 L3 K I 113045 A 26.99 =
PEIRIX S AR B3R P 713065 752 24.22 =
VI X S Il 47 HL3HE 7 3065 EXES 38.37 =
PEIRIX SR AR AT S 1015 R E K [k 18.42 A (HE)
VEIRIX 3 7R L4tk 102% 15 [ % 46. 48 =
PEIRIX 3 7R B4 5451035 FH 32.45 N
VEIRIX 3 7 45 #5104 EAWRE 32.45 =
PEIRIX S AR B4 541055 fHei75 32.45 =
PUIRIX 3K 45 L AHE 1065 HIR 32.45 N
PEIRIX 3 E 7R B4 551075 e 32.45 N
PEIRIX 3 7 L4k 108 LB 32.45 =
PEIRIX S AR B4 541095 JentE A W 32.45 AFE (HE)
PR X S e 4 AR 1105 V5 JH: F 32.45 =
PEIRIX SR AR B4 52015 bRt E A TR A 17.43 A (HED)
PEI X S I 47 HL4-545202°5 KstAn 38.83 =
PEIRIX S AR HL4 542035 bRt E R FERET (20 24.94 A (HE)
VEIRIX 3 7R 45 #5204 R 24.94 =
PEIRIX 3 7R L4 5452055 Pl 24.94 =
VEIRIX 3 7R L 45 #5206 %5 BRI 33.87 =
PEIRIX SR AR B4 542075 rErd gegitl MR 5 16.01 A (HE)
PEIRIX 3 el 7R L 452085 X FEBE 24.94 =
PEIRIX 3 7R L4209 5 &yl 24.94 =
VEIRIX 3 7 45 #5210 ViR 31.46 =
PEIRIX 3 7R B4 5453015 filingas 17.43 N
VEIRIX 3 7 45 #5302 SRR 40. 53 =
PEIRIX 3 7R B4 5453035 X 25.93 N
VEIRIX 3 7R 45 #5304 HR 25.93 =
PEIRIX 3 7R B4 5453055 AEAR 25. 51 N
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VEIRIX 3 7 L 45 #5306 % FNSLHT 34.57 fEE =
PEIRIX S AR B4 543075 i 16. 72 i€ =
PEIRIX 3 7R L 45 #5308 %5 ¥ IEH] 26. 07 e =
PEIRIX SR AR HLARE3095 bRt E R A X 26. 36 i€ A (HE)
PEI X S I 47 HL4- 5453105 TR 31.6 i =
PEIRIX 3 E 7R B 5451015 eI 18. 36 i N
VEIRIX 3 73 55 #5102 AR 46.31 = i
PEIRIX 3 e 7R L5 5451035 [z 32.33 i N
VEIRIX 3 78 55 #5104 EER 32.33 e =
PEIRIX 3 E 7R L5 5451065 EIt 32.33 i =
VEIRIX 3 73 55 #5106 %5 A2 35. 16 = i
PEIRIX 3 E 7R 5 5451075 SRART 32.33 i =
VEIRIX 3 73 55 #5108 %5 k1 32.33 = =
PEIRIX 3 e 7R L5 5451095 ZRUL 32.33 i =
VERIX 3 7 55 #5110 FieR 623 32.33 e =
PEIRIX 3 e 7R L5 545201 5 A 17.37 i =
VEIRIX 3 7 55 #5202 JERtE G B A F MY 38.83 i€ A (HE)
PEIRIX S AR HL5 5462035 S5 24. 85 i€ =
VEIRIX 3 7 55 #5204 5 sl 24.85 = =
PEIRIX S AR HL5 542055 fEREE 24. 85 i€ =
VEIRIX 3 7 B 55 #5206 %5 RS 33.75 = =
PEIRIX 3 e 7R L5 5452075 FEH T 15. 96 i N
VEIRIX 3 7 55 #5208 %5 LRI 24. 85 e =
PEIRIX S AR L5 54209 5 KBTS 24. 85 i€ =
PEI X S I 47 HL5- 5452105 bR G B B R e 31.35 i€ A (HED)
PEIRIX 3 e 7R L5 5443015 FIRT 17.37 i N
PEIRIX 3 7 55 #5302 TE&F 40. 38 = i
PEIRIX 3 7R L5 545303 5 K75 25. 84 i =
VEIRIX 3 7 55 #5304 5 FoRil 25. 84 = =
PEIRIX 3 e 7R L5 5453055 AR 25.27 T N
VEIRIX 3 7 55 #5306 %5 T4l 34.59 = i
PEIRX SR AR HL5 54307 5 b gn 16.52 i€ =
PEIRIX 3 7 55 #5308 %5 {THAE 25. 98 = =
PEIRIX 3 e 7R L5 545309 5 R 26. 4 i N
VEIRIX 3 73 55 #5310 ik pat 31.35 = =
PR X SEd R BL6 5 L7 113015 ESS g 18 8 =
VEIRIX 3 7 6 St AR 11015 INEH 37.91 e =
PEIRIX S AR HL6 541025 KB4 23.9 i€ N
VEIRIX 3 73 HL6HE 4R 111035 HARAK 37.47 k= =
PEIRIX S E 7R 6 S 41045 SRt 22. 42 fEE =
PEIRIX 3 73 L6 5 41055 R 23.9 fEE =
PEIRIX S E 7R 6 S 4106 5 PZEZIS 37.91 fEE Hhi=

FRE

817




Rk FERA AN ERAER | BREH ik BRI
VEIRIX 3 73 L6 St AR 112015 Rt 37.91 fEE =
PEIRIX SR AR L6 5K 42025 JAAR K 23.9 i€ =
VEIRIX 3l 7 HL6 45 5 422035 B4 38.35 e =
VIR X 2 d AR L6 5 B 4204 5 FESIAE 26. 4 i€ =
a3 X S Il 47 L6454 422054 XL 23.9 i =
PR IX SEE R L6 5 R 4R 112065 k&R 37.91 i€ =
VEIRIX 3 73 L6 5 43015 NS 38.79 e =
PEIRIX S 7R 6 S 43025 e 24. 49 fEE Hhi=
VEIRIX 3 7 L6 45 B 43303 5 KL 39.24 e =
PEIRIX S E 7R L6 S 4304 5 nHERE 27.29 fEE Hhi=
VEIRIX 3 73 L6 5 B 4R 113055 IRk 24. 49 £ =
PEIRIX S 7R L6 S 4306 5 i 38.79 fE Hhi=
VEIRIX 3 73 L6 S5 #5 16 111015 TLIER 37.91 = i
PR X 2 E AR BL6 5 L6 111025 bRt E R A WEE B FEd 24. 25 i€ A (HE)
PEI X S bl 47 L6 54K 16 1110345 bR G B R R WEKE(EH) FEE 37.11 i A (HE)
PEIRIX S 7R L6 S5 17104 5 X SL 22.42 fE Hhi=
a3 X S Il 47 HL6-5 A% 76 10545 FBC 23.9 i€ =
PEIRIX S 7R L6 S R 17106 5 FAF 37.91 fEE =
PEIRIX 3 73 L6 S5 #5176 112015 i 37.91 = i
PEIRIX SR AR L6 5K 12025 KK 23.9 i€ =
VEIRIX 3 el 73 L6 #5174 112035 Fatte 38.35 = i
PEIRX SR AR HLO R PE 712045 #HINT 26. 4 i€ =
VI X S I 47 L6454 176 2054 AR 23.9 i€ =
PEIRIX SR E 7R 6 S 2065 Wt 37.91 fEE =
VEIRIX 3 73 L6 S5 #5176 113015 FhRA 20.8 £ =
PEIRIX 3 7R L6 S R 176302 5 ik 24. 49 fEE =
VEIRIX 3 el 7 HL6 45 B5 176303 5 e 39.24 fEE =
PEIRIX 3 E 7R L6 S £ 1304, 3055 ik 51.77 i =
PEIRIX 3 el 73 L6 £ 174 113065 JE I R 38.79 = i
PR X 3 FE 7R 75 D-1-101 AR 36. 68 fEE =
VIR X 3 e 78 L7 545 D-1-102 XFHE 34.2 = i
PR X S R 75 D-1-1035 XL 65. 89 £ Hhi=
PEIRIX 3 78 L 75 (D--2-2015 SRR 59.74 fEE =
PEIRIX SR AR BT 522 (D-2-202 KRG 41.45 T N
PEIRIX 3 7 L 75 #(D-2-203 o R 47.33 = =
PEIR X 32 Fd R L7545 D-3-301 gkttt (280 ke 59. 74 i€ =
POIR X 3 e 78 L7545 D-3-302 ke 41.45 £ =
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VI AP L4524 ]301%5 fatid 43.47 e =
PEIRIX AP HL45 AR 13025 BRI 24.17 i =
PO AP HLARE AR 13035 BITH 24.17 i€ =
PR X AT AR 13045 T4 36. 75 fEE Hhi=
PEIR X AR P HL4 S5 A HT3055 JEsC TP X AE i PR B 55 o 23.74 i€ =
PEIR X AR AR 13065 T4 23.74 fEE Hhi=
PO AR HLARE AR 1307 XIfREE 23.74 e =
PEIR DX AR AR AR T308'5 [EAEEES 43.47 i =
PO AP HLAREPE[]101% FHER 43.19 e =
PEIR X ARG ARSI 11025 BENE 23.17 i N
VEIR DX AT 45176111035 Rz 23.17 = i
PG X ARG EAREPE] 1045 SRAP 36. 18 i€ =
PEIR X AT HLARE PG 1105%5 SRS 23.17 = =
PEIRX AP AR 11065 A 23.17 i N
VORI ARG A5 B P61107 5 JEAEA 23.17 = Hhr
PEIRX AP B4 5P ]108°5 ST 43.19 i N
VEIR DX AT HLARE PG 12015 755K 43. 04 = =
PEIR X AP AR 12025 ZRHK 23.02 i N
PEIR DX ARG HLARE I 12035 LT 23.02 = =
PEIR X AP LA 7204 5 kA 36.04 i =
PO AP HLARE P[] 205% 473 23.02 e =
PR X ARG ARG 12065 egcarl] 23.17 fEE =
PG X AP AR PE207 5 T 23.17 e =
PEI X AP HLARE 208 5 RN 43.19 T =
VEIR X ARG L AREPE301 % FAHE 43.47 = =
PEIR X AR AL 1302°5 TRES 24.17 fEE =
PG AP HLARE P 13035 el ony 24.17 e =
PEIR X AP AR P304 5 BT 37.04 & =
PEIR X ARG HLAREPE305 % TEF 23.74 = =
PEIR X AP LA PE306 5 XEZ 24. 02 T8 N
PG X AP HLAREPE307 5 R 24. 02 e =
PEIR X AP AR 13085 A 43.76 T N
VEIR X ARG B 558 D-1-101 JA [ 66. 81 = Hhr
PR X AR 5512 D-1-102 W, R, E, K 73.28 i N
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Rk FERA AN FEAER | BHEHR A& BRI
a3 X AP 5558 D-2-201 Mot (280 BRcH 68. 33 i€ =
a3 X ARG BL5 5% D-2-202 kTR 36. 27 i€ =
PEIR X ARG 55 #5222 (D-2-203 RS 56. 88 e =
PEIR X ARG 55 8D-3-301 i 53.91 fEE =
PEIR X ARG B 545 8 (D-3-302 AN, 48 50. 51 i =
PEIR X AR HL5 5 #(D-3-303 R 56. 88 i€ =
PEIR X ARG B 55 8 (D-4-401 2 K [H] 68. 33 e =
PEI X ARG BL5 5 A% (D-4-402 X 36. 27 i€ =
VEIR X ARG B 545 #(D-4-403 IS 56. 88 e =
PEI X ARG BL5 5% D-5-501 [l 53.91 i€ =
PEIR X ARG B 545 #(D-5-502 I 50. 51 = =
PEIR X ARG 55452 D-5-503 b 56. 88 i =
PEIR X ARG B 558 D-6-601 X 22 54. 38 = i
PEIR X AR 55 D-6-602 X 50. 51 fEE Hhi=
PEIR X ARG 55 D-6-603 FIRE 56. 88 e =
PEIR X AR 55 H@-1-101 HRH 66. 81 fEE Hhi=
PEIR X ARG H 55 #@-1-102 FiERME 73.28 = =
PEIR X ARG 55 H@-2-201 T 68. 33 fEE =
PEIR X ARG 155 #5@)-2-202 E3 36.27 e =
PEIR X ARG 55 H@-2-203 48, 56. 88 fEE =
PEIR X ARG B 55 8£@-3-301 1 [ 68. 33 e =
PEIR X ARG 55432 @)-3-302 LIPreia 36.27 i N
PEIR X ARG 55453 2 @-3-303 H- 50 56. 88 e =
PEIR X ARG 55 H@-4-401 PR 68. 33 fEE =
PEIR DX ARG B 55 Hk 4 2 @)-4-402 il 36.27 e =
PEIR X ARG 55 H:@)-4-403 AT 56. 88 fEE =
VEIR X ARG B 55 8@-5-501 XS 68. 33 = =
PEIR X ARG 554452 @)-5-502 =S 36.27 i =
PEIR X ARG 155 #5@-5-503 P eh 56. 88 e =
PEIR X ARG 554462 @-6-601 et | 68. 8 g N
PEIR X ARG B 545456 2 @-6-602 XEZ 36. 27 i€ =
PEIR X ARG 55 H@-6-603 ik 56. 88 fEE Hhi=
VIR X ARG 5541 2 @)-1-101 TSR, T8, T4 66. 81 = i
PEIR X AR 55 H@)-1-102 F AR 73.28 fEE =
VIR X ARG B 5 54£@)-2-201 PHA (O THE 53.91 = i
PEIR X ARG 55 HE@)-2-202 W5 50. 51 fEE =
PEIR X ARG 155 #5@)-2-203 A5 56. 88 e =
PEI X ARG BL5 5 4£B)-3-301 AR (EHO  BEHAT 53.91 i€ =
PEIR X ARG 55 #5@)-3-302 FRAR 50. 51 k= i
PEIR X ARG 55 H@)-3-303 BEH 56. 88 fEE =
VEIR X ARG B 55 85@)-4-401 AT (EHD e 68. 33 i€ =
PR IX E ARG BL5 544 B)-4-403 B (B8 B 56. 88 i€ =
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Rk FERA AHN ERAER | BREH ik BRI
PEIR X ARG B 55 85@)-5-501 73RS 68. 33 i =
PEIR X AR 55 H@)-5-502 4R 36. 27 fEE =
PEIR X ARG 1545 #£@)-5-503 iR 56. 88 = =
PEIR X ARG 55 H@)-6-602 Klek (2O 28. 46 fEE Hhi=
PEIR X ARG 155 #£@)-6-603 R 78.94 e =
PEIR X AR 55 H@-1-101 2 66. 81 fEE =
PEIR X ARG 55 @-1-102 FEW 73.28 e =
PEIR X AR 5522 @-2-201 Mgt 53.91 i N
PEIR X ARG B 55 @-2-202 2440 50. 51 e =
PEIR X ARG BL5 55 @-2-203 FKEDE 56. 88 i€ =
PHIR X ARG B 5 54@-3-301 KAE (O #R4E 53.91 ke N
PEI X ARG BL5 55 @-3-302 22 S A 50. 51 i€ =
PEIR X ARG B 55 #:@-3-303 T 3E, X5 A 56. 88 e =
PEI X ARG BL5 55 @-4-401 Wi IE 53.91 i€ =
PEIR X ARG B 545 H@-4-402 AR 50. 51 e =
PEIR X ARG BL5 55 @-4-403 [ 22 56. 88 i€ =
PHIR X ARG B 5 54@-5-501 A 53.91 = =
PEI X A ARG BL5 54 @-5-502 ke 50. 51 i€ =
PEIR X ARG B 545 #@-5-503 K 56. 88 fEE =
PEIR X AR HL5 5 H@-6-601 BT (EH)  HREE 54. 38 i€ =
PEIR X ARG B 55 @-6-602 AR 50. 51 = =
PEIR X AR 55 H@-6-603 X5 56. 88 fEE =
VI IX AT L5, 64516 5 H5D-1-1 L5 PN 50. 95 e =
PEIRIX ARG LS, 65165 B D-1-2 KT 47.35 fEE =
PUIR X AP HLS, 656551 ZD-1-3 E#f 53. 95 e =
PEIRX AAR P S, 65856 5 H220-2-1 MRS 53.8 i€ N
PEIR X AR HL6 5 Hk6 i (D-2-2 e 50. 2 i€ =
PEIRIX ARG HLS . 6565 H0-2-3 R (250 56. 8 i€ N
VU X ARG L5, 6565 43ZD-3-1 FHEPE 53.8 i€ =
PEIRIX ARG HLS . 6565 HD-3-2 BRI 50. 2 i€ N
PR IX AMRTE 5, 65 165 HD-3-3 Rk 56. 8 = i
PEIRX AAR P ES, 65056 5H54Z20-4-1 B, T (2H0 53.8 i€ =
PUIRIX ARG HLS, 6565 14242 Figs 50.2 fEE =
PEIRIX ARG LS, 65165 B D-4-3 o 56.8 fEE Hhi=
PUIRIX 4TG5, 65 H6 5 HD-5-1 I 53.8 = Hhr
PEIRX AAR P H5. 65165 145/Z2D-5-2 £ 50. 2 i€ =
VESRIX AT 5, 6458565 52 D-5-503 Tt 56. 8 i€ =
PEIR X ARG HLS . 65165 HD-6-1 ESi 54. 28 i€ =
PEI X AP HL6-5 5 D-6-2 B 50. 2 i =
PEIRX AAR P H5. 658565 1:6/ZD-6-3 [ZEa S 56. 8 i€ N
VIR IX ARG L6551 2 @-1-1 iR =2 65. 13 i€ =
PEIRIX AP HLS . 6565 H@-1-2 2R 33.36 i€ =




Rk FERA AN ERAER | BREH ik BRI
VEIR X AT 65 H5@-1-3 T4E 53.95 = =
PEIRIX ARG LS, 65165 @21 FEH 67.98 fEE =
PEI X AT L5, 645165 Hk22@-2-2 EEE 36. 21 e =
PEIRX AAR P H5. 65 056 5 H@-2-203 B 56. 8 i€ N
VESRIX AT S, 645865 @31 XIRE 67. 98 = =
PEIRX AAR P 5, 65 M6 5 H5@-3-2 TR 36. 21 i N
PUIR X AP HLS, 6565 H53/2@-3-3 EWL, T3 56. 8 e =
PR IX AR 65 H@-4-1 TEE 67.98 fEE Hhi=
VA X AT L5, 645156 5 H5@-4-2 XU 36. 21 e =
PEIRIX AP HL6 T H©@)-4-3 ARH A 56. 8 i€ =
VEIRIX ARG 65 H5@-5-1 fKRE 67.98 e =
PEIRIX ARG LS, 65165 H@-5-2 NP 36. 21 fEE Hhi=
VI IX AT L5, 6451565 H5@-5-3 IhEA 56. 8 i€ =
PEIRX AR 65 @61 LF'e 68. 46 fEE Hhi=
PUIRIX AP HLS, 65165 1H56/2@-6-2 VFH 7 36. 21 e =
PEIRIX AP ELS . 65165 H@-6-3 kA 56. 8 i€ =
PEI X AT L5, 645165151 Z@-1-1 Pl 50. 95 e =
PEIR X AP HS, 6565 HG-1-2 ZHEE (S8 SR 47.35 i€ =
VI X AT L5, 645165 H5@-1-3 fant e 53. 95 fEE =
PEIRX AP HL6 5 HEE)-2-1 M 53.8 i€ =
VEIR X ARG L6 5 5 @)-2-2 PEARYE, ZERBH, 1 AR 50. 2 i€ =
PEIRIX ARG HLS . 6565 H@-2-3 v 56. 8 i€ =
VI X AT L5, 64516 5H5@)-3-1 Beklia 53.8 i€ =
PEIRX AAR P 5. 6516 5 143)/2@)-3-2 Wy 50. 2 i€ N
VI X AT L5, 6451565 H5@)-3-3 Ly 56. 8 fEE =
PEIRX AAR P S, 65 156 5 H@)-4-401 ke 53.8 i€ N
PEIRIX AR T 5, 65156 5H5@-4-2 AT 50. 2 i€ =
PEIRIX ARG LS, 65165 H@-4-3 JAEH 56.8 fEE Hhi=
VI X AT L5, 6451565552 @)-5-1 PRy 53.8 e =
PEIR X AP HL6 5 HE)-5-2 SR (B8 Rk 50. 2 i€ N
PEIRIX AR 5, 65156 5£@-5-3 LpL, Sl 56. 8 i€ =
PEIRIX ARG LS, 65165 HG-6-1 FE 54. 28 £ Hhi=
PEIRIX AR T 5, 65156 5H5@-6-2 [H 75 50.2 fEE =
PEIRX AAR P H5. 65165 146/2@)-6-3 FH 56. 8 i€ =
VI X AR PE 5. 6451565 H5@-1-101 TRIRF 50. 95 e =
PEIRIX ARV 5. 6565 H1Z2@-1-2 LS 47.35 g N
VA X AR PE L5, 6451565 H5@-1-103 KA, A 53. 95 e =
PO IX AP HLS . 6565 H@-2-1 X E 53.8 i€ N
VI X AT L5, 645156 5 H5@-2-2 TR 50. 2 e =
PEIRIX AP HLS . 6565 H@-2-3 JIeal 56. 8 i€ N
VIR X ARG HLS . 655165 HE@-3-1 Sk 53.8 i =
PaIR X A ARPE H5. 6565 @-3-302 YL 50. 2 ft® N
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PEIRIX AMRTG L5, 65 0565 BE@-3-3 B (DD =Y 56. 8 = i
PEIRIX ARG LS, 65165 H@-4-1 EpE 53.8 fEE =
PEIRIX ARTG L5, 65 0565 @42 Qe 50. 2 £ =
PEIRIX AP HLS ., 6565 H@-4-3 EilsE, Gk, AT RZ 56. 8 i€ =
VI IX AT L5, 6451565 H5@-5-1 W2 53.8 e =
PEIRX AAR P H5. 65165145/ Z2@-5-2 B 50. 2 i€ =
PEIRIX ARG 5, 65156 5H5@-5-3 T 56. 8 i€ =
PRI A TG HS. 65 1565 H@-6-601 ATE 54. 28 fEE Hhi=
VIR X ARG HLS, 655165 H@-6-2 JAWZ 50. 2 i =
PEIRIX ARG LS, 65165 H@-6-3 KB 56.8 fEE =
VEIR X AT 75 #D-101 ABIAX 77.32 £ =
PEIR X AP L7 541171102 Jentigatt) ARIEA T - 38.52 i€ A (BE
VEIR DX AT 758512 D-103 P 56. 45 i€ A=
P IX ARG BL7 5 22 D-201 JifE 5% 82.15 i€ =
PEIR X ARG HL 75 8 (D-2-202 HYET 43.16 e =
PEIR X AR 75 HD-2-203 S 61.39 fEE Hhi=
POIRX AR TG L7543 2 D-301 S 82.15 = i
PEI X AP BT 5432 D-302 P4t 43.16 i N
PEIR X AT L7558 (D-303 Xt 61.39 fEE =
PEIR X AR B 75 D-4-401 W 82.15 fEE =
PEIR X ARG HL 75 (D-4-402 e 43.16 e =
PEIR X AR 75 D-403 T 61.39 fEE N
PEIR X ARG L7458 D-5-501 Ried 82. 15 e =
PEIR X ARG L7545 2 D-5-502 7] 43.16 i N
VEIR X AT L7585 (D-503 X 61.39 e =
PEIRIX AP HL7 5462 D-601 TR 82. 15 i N
PEIR DX ARG HL 75856 2 (D602 PR 43.48 e =
PEIRIX AP BT 58 D-603 AT, LA 61.71 i€ =
PEIR X AT L7 S 8512 @-101% NIk 56. 45 = i
PEIRIX AR 751 2@-1025 ik 56. 45 g N
VEIR X ARG L 75 #@-2-201 A 61.39 e =
PEIR X AR 75822 @)-202 EFS 61.39 £ Hhi=
VEIR X ARG L 75 #@-301 HROR 61.39 fEE =
PEIRIX AP BT 5 4£3)2@-302 EHEH 61.39 T N
VEIR X ARG L 75 #5422 @-401 PANITEE] 61.39 e =
PEIRIX ARG L7542 @)-4-402 R 61.39 & =
PR X ARG L 75 H@)-501 X F 61.39 = i
PEIR X ARG 75452 @)-5-502 b 61.39 g N
PEI X AP HL 75 85@)-601 AT 61.71 i€ =
PR IX ARV 7545622176025 BP0 61.71 T N
VIR IX AT 75851 2G)-101 A5 56. 45 £ =
PEIRIX AP L7 541 Z@-102 ESCRE 56. 45 i N
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VEIR X ARG L 75 H@)-201 K 61.39 fEE =
P IX ARG BL 75 22 3)-202 EilUH, (55 61.39 i€ =
PEIR X ARG L 75 8£@)-3-301 FHE 61.39 i =
PEIRX AP BT 5 H3)2(@)-302 PEZE 61.39 i N
VEIR X ARG L 75 85@)-4-401 o e 61.39 e =
PEIR X AR 75 H:©)-402 TER 61.39 fEE =
Va3 X AP HL 75 8£@)-5-501 TR, XS, XS, R, X IR 61.39 i€ =
PEIR X ARG L7545 2@)-5-502 HH I5 61.39 i N
VEIR X AT L7586 2 3)-601 BRR 61.71 e =
PEIR X AR 75 H:3)-602 X1 S 61.71 fEE Hhi=
VIR X AT 75851 2 @-101 BEE kEY, KIE, KEBE 56. 45 i€ =
PEIR X AP BT 5 H@-102 S 56. 45 i€ =
PHIR X ARG 75 4@-2-201 A 61.39 = i
PEIRIX 1) B S ) AR o LT 5 442025 Jeptigatt) ARIHEA T X JE 61.44 i€ A (HE)
PEIR X ARG L 75853 2 @-3-301 (IS GEIN 61.39 e =
PEIR X AP BT 5432 @D-302 LR 61. 44 i =
PEI X AP L 75 H@-401 AN 61.39 i€ =
PEIR X ARG L7542 @-4-402 EEH 61. 44 i N
VEIR X ARG HL 75 H55 2@-501 RS 61.39 fEE =
PEIR X ARG L7545 2 @-5-502 FAR W 61. 44 i N
PEIR X ARG L 75856 2 @-6-601 RPRAE 61.71 i€ =
PR X ARV L7 545752 @-602 T30 61.76 i N
VI X AP 2105 i 66. 1 e =
PEIRX AP 115 LB BRI 2B FUIB ) A IR A ] ATt 24.93 i€ A (HE)
PEIR X ARG B 115 eI AL A BRA FRE 33.33 i€ A (HED)
PEIRX AP 115 LB BRI 2B FUIB ) o A IR A ] ES:a 23.03 i€ A (HE)
PEIR X AP HL 115 eI AL A BRA = B 17.64 i A (HED)
PEIRX AP 115 AE BRI 2B LI o A IR A ] X 24. 66 i€ A (HE)
PEIR X ARG B 115 JEE AR AL A BRA = LEXS 33.82 i A (HED)
PEIRX AP 115 AL BRI 2B LI A IR A ] (DS 25.33 i€ A (HE)
PEIR X ARG 115 eI AL A BRA = R 16. 93 i A (HED)
PEIRX AP 115 e BRI 2B FUI ) o A IR A ] IR 28.15 i€ A (HE)
PEIR X AP 115 eI A BRA Bk 18.45 i A (HED)
PEIRX AP 115 LB BRI 2B LI o A IR A ] R 22.29 i€ A (HE)
PO X AP L1252 FEHT 9.6 e =
PEIRIX AR 12545 BEHR 18. 26 & =
VI AP HL 125 bR G B B R [V 12.8 i€ A (HED
PEIRX AP 125 et E R A F K [ 12.8 i€ A (HE)
PO AP L 125 1% At 10.4 i =
PEIRIX AT L1258 Sy 16 i N
PO X AP L1259 Eufh 16. 66 fEE =
PEIRIX ARG L1255 i [ 3 9. 86 i N
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Rk FERA AHN ERAER | BREH ik BRI
PEIR X AT HL 125105 FHEI 15. 86 fEE =
PEIRIX A 125115 FEWN 15.6 i N
VI X AP HL 125 X v 12. 66 e =
PEIRX AP HL 145 ERE 17.2 i€ =
PEIR X AP 1454 WK BH 3 17.2 e =
PRI ARG L 145 ek 17.33 i N
PEIRIXAR T L1452 R 17.33 = =
PEIRIX A 14515 EEX] 17.33 i N
PO AP HL 165145 Ak 19. 86 e =
PEIRIX AR 165115 BT 19.6 i N
VIR IX ARG L1652 W& oH: 19. 86 = =
PEIRIX AT 16595 FH 19.73 i =
PO AP L 165 1% EBFE 24.79 e =
PEIRIX A 165195 FER 13.2 i N
PEIR X AT HL 165185 RS 13. 06 e =
PEIRIX A 16545 AL 20. 53 fEE =
VISR IX AT 164516 IRl 20. 13 = =
PEIRIX A 16515 [H A 20. 26 i N
VI AP HL 165 535 EScia 27.06 i =
PR IX ARG BL16 5 FCH 23.46 i N
PEIRIX AT L1658 i 31.59 = =
PEIRIX A 165175 RE 20. 13 i N
PEI X AT HL 165105 T 23.19 e =
PEIRIX A 16575 SN 34.12 i N
PEIR X AT HL 165 [z 31.73 e =
PEIRIX AT L1856 aIp] 12.13 i N
VI X AP HL1853-55 R 33.19 e =
PEIRIX A 18525 JAZEA 22.26 i =
PEIRIX ARG L1851 kel 14.93 = =
PEIRIX AT 20 565 I 5 25.59 T N
VIR X ARG B 20555 ee 23. 46 = =
PEIRIX AT 20 525 R 21. 06 T =
PO X AT 2205 bR G B R R A (280 21. 06 i A (HE
PEIRIX ARG 20 545 FRE 21. 06 T N
VI X AP 22053 EMX 21. 06 e =
PEIRIX ARG 22 545 WER 18. 26 & =
VIR ARG L2252 HEK 18.26 = =
PEIRX AP H 225 BER 18.26 i€ =
VI IX AP 122535 X 18. 26 e =
PEIR X ARG 24 5 B 13.33 i N
VI X AP HL24°5 Bw 29. 59 fEE =
PEIRX AP H 265 E2R 75.5 i€ N
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VI AP 27 5 H£3-01% Jentiiig e Tl A w ERA 39. 46 i€ AT (HED
PEIRIX AP 27 S HE3)22 5 ESLf ] 39. 46 i N
VORI AT 275 3235 R 39. 46 = =
PEIRIX AP 27 S HE3)24 5 PR 37 i =
VI IX AP HL27 535265 FEM 37 e =
PEIRIX AP 27 53265 i R 37 i N
VEIRIXARVG 27 53R TS FIFHE 37 i€ =
PEIRX AP HL27 53285 EXK 39. 46 i N
PG X AP HL27583-094 Jentiig e Tl A w RN 37 i A (HED)
PEIRIX AP H27T S HE3)2 11 AR 37 i N
PR IX ARG 2753213 % ) 37 k= =
PEIRX AP 27 53)2155 kxtE 37 i N
PEI X AP HL27T S HE3)E 17 Jfal 2 ] 39. 46 e =
PR IX ARG 27 532195 K pd 39. 46 i€ =
PEIR X ARG 6545 P 5. 6 e ERXHER AL E T KA 41 £ A (HED)
PEIRIX AR 6 S HE NP BT 3. 4 e ERXBEERRLBE N K [l 3 41.3 i€ A (HE)
PO AP HL28 5 bR G B B R B 14.8 i€ A (HE)
PEIRX AP HL 285 e ERXBER R HE & 30.9 i€ A (HE)
VG X AT HL6-5 4% T b P 33.7 i€ =
PRI AR 325 1-2'5 ZER 31.73 i N
VEIR DX ARG LGS B 551 5 JentiEat-t) AR LA FAR 31.53 fEE 2~ (HED
PEIRX AP HL6 54 T 5 BETT 9.9 i€ =
PEIR DX ARG B 2 55. 12 = =
PEIRX AR 751 ke 33.1 i€ N
PEIR X S0 R AR L 75 6 1 1501 Jestisdi-t) AR A A EFF 15.3 i€ A (HED)
PEIRX AP B 75552 Jentigatt) ARIHEA T Wz 15.33 i€ A (HE)
EIR DX SR [F) bR G LT 5 BTG 1 1535 JentiEat-t) AR LA G 14. 67 e VASGEL 9]
PEIR DX AR B AP 5 = S5 HT-6'5 Jentigatt) ARIEA T AR 17.77 i€ A (HE)
PG DX S R0 7] bk i L TRR VG 1 1555 JentiEat-t) AR LA A 18 fEE A (HED)
PEIR X AR B LA 52 5 4F4-35 Jentigatt) ARIEA T FRIE 21.5 i€ A (HE)
PEIR X S22 [F) bR G LT 5 BTGP 5507 %5 JentiEat-t) AR LA R 17. 64 e VASGEL 9!
P X S0 1R AR P LT 5 B LA 55085 Jeptigatt) HRIEA T FRER 17.5 i€ A (HE)
PO AT 95 TrE M 32.3 i€ =
PEIRX AP HLO 5 3 1)z TFIR, R 15.5 i€ =
PG AP HL9-5 20k 1) ARl 12.7 i =
PEIRX AR 5 FeFIR 15.5 i€ =
PO AT 95 Piilkis 16.3 i =
PEIRX AP O 571z TERIH, sk 28.1 i€ =
PO AP HL 2855 LR G B R R K [ 9 13.6 i€ A (HED
PEIRX AP B 285 ERtE R A Lk 17.2 i€ A (HED)
PO AP HL 2855 e R G B HL A R AR 21. 46 i€ A (HED
PEIRX AP B 285 ERtE R A F FEK 21.59 i€ A (HE)

ERE S




53 ik FERA AHN ERAER | BREH ik BRI
PHI X ARG L1285 et b B A A ) TR 23.99 i | A (EE
PR X A G L 28 5 JeatE s R A F AT i3 34. 52 i A (EE
PESRIX %4555 BB 27.6 = =
FEIRX TS JeatE s R A F AT E 79 13.2 B A (EE
PESRIX %459 5 SRR 17.6 = =
PEIRIX 2459 5 Eitia 13. 06 i N
PESRIX %5 1151-3% R 35.19 = =
PR X i 4% 7] 2 5 JeatE s R A F AT L 14.66 B A (EE
PHIRX i 48 25 SEI=/TEREpIN e 26. 42 i | A (HED
PO XG4 R 5 1-25 JiE K 16.4 i€ =
VORI A [F2'53 %5 K 15.6 i =
PEIR X G 4R [F)2 5 H & 15.6 i€ =
TEIRIGE AR [F25 7S (R0 7] 14. 66 e A=
PEIR X G 4R [F)2 5 ZES 14.8 i€ =
TEIRIXIGEAR I [F25 105 ot 16. 13 e A=
PEIR XG2S 115 753 12 i€ =
TEIRIX G [F25 4% E3R 15.6 i€ =
PR X i 4% 7] 2 5 T P X A 5 R 45 15.6 fE Ahi
PO X GRS 5-F 5565 Jeut B AR A R A F S 35.99 i€ A (HED)
PSR X G 40 55T 3 3-4 5 bt e AT PR A7) EHEER 40. 42 B A (B
VORI G AR [F55 - 5565 Jentp AR A R F EhE (Dl PR 20 i€ A (HED)
PR X G 4 5 5T 2 5 Jbat s e AT R A7) ZEFF 20 B A (B
PEIX i 40 551 5 15 Jeats R AR A fipneis 20. 53 i | A (HED
PEIR XG4 R 75 2-35 KN 34.12 i€ =
VIR X 4R [ 75 RXEF 16. 66 = =
PR X 3G 4R [F)8 5 (ST 14.4 i€ =
VORI G AN [FI8 5 2% PUESES 14 i€ =
PEIR X 3G 4R R85 3-45 &5 31.33 i€ =
VORI G AR [FI8 5 5% [k 15. 06 e A=
TEIR X G 4R A8 565 &5 15.6 i€ N
VORI IGE AT [FI8 5 TER 40.2 i€ =
TR X 3G 4R [F)8 5 o4 R 5 14 i€ N
VORI G AT 95 bR G B R R £IH 17.06 i A= (HE)
PEIR XG4 A 10515 Rz 13.6 i€ N
VISR X IS 4CH [ 105245 Xk 14.13 = =
PEIRIX IS 105345 kit 30. 13 T =
PEIRIXE AR [ 1055%5 JEEH 15.6 i =
PEIR X & 4R A 105 AL 10.4 i€ N
VORI G AR [ 105 75 HEE 13. 46 i€ =
PEIRIX IE AR E) 11565 [ 17. 06 T N
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